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1Kkt BB INFHKTH 35 38 73
258 & o ETh 38 40 78
3 /IhNF BT et 38 40 78
4 B7 #2— R E 40 39 79
58 AI5h FEM 39 40 79
628 &R— Ml 42 38 80
18K RE Ml 41 39 80
8 i fos izl 43 38 81
9 HRiE IBA am 44 38 82
10t E= MR 40 43 83
11 ik EH /NN 44 40 84
12 #8H F= A 42 42 84
13 /NE FE BET 41 43 84
14 8iE [E= AR 41 43 84
15 FHIL E4 mi| 41 43 84
16 f&fF =% FEH 39 45 84
17 2% #H— BET 47 38 85
18Il EF ES 2 o] 45 40 85
19 RA R Ml 45 40 85
20 [ —X NN ] 4 41 85
21 §5K IE—BF [m¥ETH 43 42 85
22 5# EE etii] 43 42 85
23 K¥ KBl mHIR™ 42 43 85
24 LA #N =ikl 42 43 85
25 TR FIE PNl 42 43 85
26 FHH —&k FlFE™ 42 43 85
27 2% &Hah INFHR™ 41 44 85
28 Heh f# ka™ 40 45 85
29 518 & =Nl 44 42 86
30 Rk FHt FEER 42 44 86
31 U & INFHR™ 42 44 86
32 FHH RE NN ] 42 44 86
B FF AR Il 41 45 86
4L B AR 46 41 87
35 FTH EE AR 44 43 87
36 JEER EF0 EiEM 42 45 87
37 MR 12 FEM 39 48 87
IETF E— Ml 47 41 88
39 KAR % KEBET 45 43 88
40 £ & mR™ 45 43 88
A EF RE Lizhil 45 43 88
42 F¥iE 1487 HBFH 45 43 88
43 IUA T R E 44 44 88
44 3R MRER FEM 43 45 88
45 MR B FEM 42 46 88
46 [EA BE ietigi] 42 46 88
47 Rg —H EEM 42 46 88
48 £k BE— INFHKH 45 44 89
49 Bk [EAXER #F™| 43 46 89
50 k¥ Ot mR™ 41 48 89
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51 ANl FIB MR 41 48 89
52 HH 25k =Kl 50 40 90
53 AR HE mEEM 47 43 90
54 =1 X BEHH 45 45 90

55 KR 1£3hA etigii] 45 45 90
56 ERR FER k™ 49 42 91
57 AL 1%EA ARm 48 43 91
58 fnfit 1EBA BEEHH 47 44 91
59 T H 1B HEHR 45 46 91
60 i=fE EX NN 44 47 91
61 FRE JEST etigii] 47 45 92
62 KH B A 46 46 92
63 Frx Eft am 44 48 92
64 KR = AEEM 48 45 93
65 fiE FEFN AR 45 48 93
66 @ IHA NN ] 45 48 93
67 BhJil &3k =kl 49 45 94
68 I HHH FEM 46 48 94
69 KHE FiE tntE T 43 51 94
70 AL &Y% FEM 50 45 95
71 /hE B FEH 49 46 95
72 $iK —hk MR 45 50 95
13 AR B HRFH 50 46 96
74 BF B INFHKTH 48 48 96
75 FFE EHB WEM 47 49 96
76 2H 2z NS 43 53 96
77 HiE FE Fidam 48 49 97
718 /\K ENE /\FHKH 45 52 97
79 5Kk BR ¥FHE™ 49 49 98
80 # L B FrHE™ 48 50 98
81 [MFIE Bz MEh 47 51 98
82 HtE Lk etii] 46 52 98
83 FE 1EA Il 46 53 99
84 £H E#t FEM 50 50 100
85 Tk 1EfH Ei&H 47 54 101
86 M RE FEM 48 54 102
87 Hth B35k I\ 54 49 103
88 i1} EF =3=1411] 53 50 103
89 # Fak EE™ 51 52 103
90 JtiE E—BF FESN 52 52 104
N FH BE— /N =] 56 50 106
92 Rk = it 58 56 114
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